
 

Rear Rack Rail for
Instructor Media Console

#68100 - 29"H (14RU)
#68150 - 36"H (18RU)

Assembly Instructions:

Tools Required:
Phillips Screwdriver or

Electric Drill w/ Phillips Driver

Before you begin, please make sure all parts and proper quantities are 
included.  Any parts damaged during shipment must be reported within 
15 days of receipt.  To report information regarding damages or if you 
have any questions, please call 1-800-235-1262.

To purchase parts or accessories, please contact us at
www.spectrumfurniture.com

1-800-235-1262
Thank you for choosing Spectrum products!

Rack Rail Installation

A.  Open the rear equipment rack door.
B.  Align each rack rail with the pre-drilled equipment rack mounting holes .  Figure 1. 

Be sure the short leg on each rail points inward as shown.
C.  Attach each rail to the equipment rack frame with (4) 8-32 x 1/2" PH thread-cutting screws, while 

making sure the screws are installed straight.  An electric drill can be used to install the screws, 
but make sure the drill torque is set so the screws do not strip out.  Do not tighten completely until all 
screws are installed.

(8) 0100167
8-32 x 1/2" Thread-cutting Screw

Equipment Rack

0109166X Page 1 of 1

Rear Rack Rail for
Instructor Media Console

#68100 - 29"H (14RU)
#68150 - 36"H (18RU)

Assembly Instructions:

Tools Required:
Phillips Screwdriver or

Electric Drill w/ Phillips Driver

Before you begin, please make sure all parts and proper quantities are 
included.  Any parts damaged during shipment must be reported within 
15 days of receipt.  To report information regarding damages or if you 
have any questions, please call 1-800-235-1262.

To purchase parts or accessories, please contact us at
www.spectrumfurniture.com

1-800-235-1262
Thank you for choosing Spectrum products!

Rack Rail Installation

A.  Open the rear equipment rack door.
B.  Align each rack rail with the pre-drilled equipment rack mounting holes .  Figure 1. 

Be sure the short leg on each rail points inward as shown.
C.  Attach each rail to the equipment rack frame with (4) 8-32 x 1/2" PH thread-cutting screws, while 

making sure the screws are installed straight.  An electric drill can be used to install the screws, 
but make sure the drill torque is set so the screws do not strip out.  Do not tighten completely until all 
screws are installed.

Figure 1

Rear Equipment 
Rack Door

(8) 0100167
8-32 x 1/2" Thread-cutting Screw

Equipment Rack

Rack Rail

8-32 x 1/2"PH
Thread-cutting screws

(4 req'd per rail)

IHW
Touchboards_stamp

http://www.touchboards.com/

